Eco 601

Problem Set #2

Fall 2002

DUE:  Wednesday, September 11.

From Nicholson, Ch. 3:

1.  3.2

2.  3.3

3.  3.5 and 3.6 (it’s easier to graph and then check for convexity for each utility function at the same time.)

4.  From an old prelim:  True, False, or Uncertain.  Explain your answer as briefly as possible.  Indifference curves may be concave even though the law of diminishing marginal utility holds for both X and Y.

5.  Tommy Twit is happiest when he has 8 cookies and 4 glasses of milk per day.  Whenever he has more than his favorite amount of either food, giving him even more makes him worse off.  Whenever he has less than his favorite amount of either food, giving him more makes him better off.  His mother makes him drink 6 glasses of milk and only allows him 4 cookies per day.  One day when his mother was gone, Tommy’s sadistic sister made him eat 13 cookies and only give him 1 glass of milk, despite the fact that Tommy complained bitterly about the last 5 cookies that she made him eat and he begged for more milk.  Although Tommy complained later to his mother, he had to admit that he liked the diet that his sister forced on him better than what his mother demanded.

(a) Use black ink to draw some indifference curves for Tommy that are consistent with this story.

(b) Tommy’s mother believes that the optimal amount for him to consume is 6 glasses of milk and 4 cookies.  She measures deviations by absolute values.  If Tommy consumes some other bundle, say, (c,m), she measures his departure from the optimal bundle by D = |6-m| + |4-c|.  The larger D is, the worse off she thinks Tommy is.  Use blue ink in the graph above to sketch a few of Mrs. Twit’s indifference curves for Tommy’s consumption.

6.  Joe Bob has a utility function given by U(x,y) = x2 + 2xy + y2.

(a) Compute Joe Bob’s marginal rate of substitution of good x for good y.

(b) Joe Bob’s straight cousin Ernie has a utility function V(x,y) = x + y.  Compute Ernie’s marginal rate of substitution.

(c) If you saw a one diagram with Joe Bob’s indifference curves and another diagram with Ernie’s indifference curves, could you tell which was which?  In other words, do U(x,y) and V(x,y) represent the same preferences?  Explain.

